Answer on Question#51506 - Physics - Electromagnetism

Two charges Q; = 500uC and Q, = 100uC are located on the XY plane at the positionsr, =
3/ m and r, = 47 m. Find the force exerted on the Q,.

Solution:
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The force exerted on the Q, is
Q10>
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where k, = 8.9875 - 10° NCT — is Coulomb’s constant, 7y, =1, — 1y = 4Im — 3/ m.
|712] = V4?m? + 32m? = 5m
Therefore
N - m? 500uC - 100puC
Fek, 0%, g9g75.10° ! M 4im—37m) =

7123 o 125m3

= 17.975N - (0.57 — 0.6))

Answer: F = k, 2%y, = 17.975N - (0.5 — 0.6)).

[r1213

http://www.AssignmentExpert.com/



